Year Two Home Learning
Autumn 1, Week 6 12.10.18

This week we have

® |earning how to use the BAR MODEL to help us
understand addition and subtraction
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e thoroughly enjoying the beauty of listening to
London Philharmonic Orchestra's Highway Rat
concert




Challenge
Change these sentences into the past tense:

I eat jam with my toast.

I keep warm by wearing my hat and gloves.

I am walking to school.

We go swimming on Saturday.

You are the winner of the race.

The sound /j/ spelt
with -dge’ and
‘-ge’ at the end of
words

badge

edge

bridge

dodge

fudge

age

huge

change

charge

village




